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area-of-ring : number number -> number
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,; area-of-ring : number number -> number
(define (area-of-ring outer inner) ...)




Purpose {

Palebuse Lok

« OS5 LADIRDEVCE T D{ARDHBIE(L
- OS5 LD, BRRE

to compute the area of a ring whose radius Is
outer and whose hole has a radius of inner
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;; area-of-ring : number number -> number

;; 1o compute the area of a ring whose radius Is
;; outer and whose hole has a radius of inner
(define (area-of-ring outer inner) ...) 10
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;; 1o compute the area of a ring whose radius Is
- outer and whose hole has a radius of inner
(define ( outer inner) ...)
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area-of-ring should produce 50.24
for the inputs 5 and 3

ABDEHRFSND LTI
(TO0 S LDOEEDENTTIRD)

.l |

,; area-of-ring : number number -> number

,; 1o compute the area of a ring whose radius Is

;; outer and whose hole has a radius of inner

;; example: (area-of-ring 5 3) should produce 50.24
(define (area-of-ring outer inner) ...) 12
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;; area-of-ring : number number -> number

;; 1o compute the area of a ring whose radius is

,; outer and whose hole has a radius of inner

;; example: (area-of-ring 5 3) should produce 50.24

(deflne (area-of-ring outer inner)

(- (area-of-disk outer)
(area-of-disk inner)))|) 14
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Contract:

area-of-ring : number number -> number
(define (area-of-ring outer inner) ... )

Purpose:

to compute the area of a ring whose radius is outer and whose
hole has a radius of inner

Example:
(area-of-ring 5 3) should produce 50.24
Definition:
(define (area-of-ring outer inner)
(- (area-of-disk outer)
(area-of-disk inner)))
Tests:
(area-of-ring 5 3) ;; expected value 50.24

SZ Web R—>
http://www.htdp.org/2001-11-21/Book/node14.htm 18



http://www.htdp.org/2001-11-21/Book/node14.htm

[

[

KX COEXED *ﬁﬂ

Palebuse Lok

[EREDE#MT. RIENED RS T —~ DIEFEDECIR

OS5 LAOIRDEVWICE I DARDBRHE(L
(DO LD, BRRE)

BIREEES Tz, TO0S ADIRDELVDHIZR
pARIA YN F5%
TAbMzEBUICTS—0OFR

19



8-2 R DI S —

20



BLDOILS—

DrScheme/3t
- #83 TS —(Syntax Errors) RBDIlT3.

« E58SchemeDEN(CED CLVRWZE
e.g. (10), (10 + 20), (define (P x) (+ (x) 10))
« 247> —(Run-time Errors)
* SchemeDER(CEDTWVWBRTOTSLADETH, #EER
7RG E(FR SR,
e.g. (/1 0), (define (fn) (+(/n3)2)CxTB(58)
- ;mIEAY T = —(Logical Errors)
e SchemeDER(CED>TUWVWT, EXBEIH, ZDEX
HEHED TULB.
e.g. (define (area-of-triangle b h) (+ b

EEEL, HAIFLL
TOOSLAERTET
CTRETE3.

J 21

(define (wage h) (+ 12 h))




FEFORGE(Domain Knowledge)

« JOUSIETE

* e.g. %&?@%DEE‘,

« TORIBDEFE =

=9 DICE, T

5.

Palebuse Lok

IS5 L2 UK
D &I DO (DEFDORE) D

B, EMF, TATE, =il
T D EMKRDHEND

- BFICIE, ZDIL

BE UTRTNUETR S TR0,

PAREIR.

BT —FZRINIT DIEETH



8-3/\V ]

23



JNY O EEBDESD T

c BRlZERINS, [HIFE] Z17DTHD

- 28, [ERE] (CHET D

s B DNR—XATHITEATIEWEIEA

24



DrScheme O{EFE

Palebuse Lok

« DrScheme DECE)
~“0O/5/n — PLT Scheme — DrScheme

- SHDEZTI(ZE lNntermediate Student ]

(—El'b'—'—l

e iE
Language
— Choose Language
— Intermediate Student
— Execute N5 >

25



HIRE 1. SN

 5%15 amount MNSFZKZ 3K &b D EHEX
ZED
« IEN $1000 LITFRAS(E 1 4%
« SN $5000 L TFR5(E 0 4.5%
« AN $5000K DZTNUL : 5%
c REZFMFEITBDEARNZED

- cond BAHVEL

Palebuse Lok



HIRE 1. SN

FIE
0.045 +-—4 -
0.04 - - |

00 1000 5000 pe=



A71E 7]

1500 0.045

A7 72

28



o005 A

Palebuse Zak.

* Interest-rate: number -> number
* to determine the interest rate

,; for the given amount
(define (Interest-rate amount)

cond
( %: amount = 1000 D&EE

[(<= amount 1000) 0.040
[(<= amount 5000) 0.045]1000 < amount = 5000 DEE

[(> amount 5000) 0.050])]1 5000 < amount D& =
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(define ( a-list)
(cond
(= a-list empty) D]
else (+1
/J ( (rest a-list)))]))
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(define (list-length a-1list) -
(cond
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[else (+ 1
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> (list-length (list 11 12)) -
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(error SYMBOL STRING)
(define (give-name name)

(cond
[(symbol? name) (format “Hello, ~s” name)]

[else (error ‘give-name “symbol expected’)]))



;; profit: number -> number N
;; to compute the profit as the difference between
;; revenue and costs at some given ticket-price - P
(define (profit ticket-price) > profit BEX
(- (revenue ticket-price)
(cost ticket-price)))
;; revenue: number number -> number %
C

/

;; to compute the revenue, given ticket-pri
(define (revenue ticket-price)
(* (attendees ticket-price) ticket-price))
;; cost: number -> number S
;; to compute the cost, given ticket-price
(define (cost ticket-price) .
(+ 180 " cost BIEX
(* 0.04 (attendees ticket-price))))
;; attendees: number -> number
;; to compute the number of attendees,
;; given ticket-price
(define (attendees ticket-price) > attendees E'a?;&
(+ 120
(* (/ 15 0.10) (- 5.00 ticket-price)))) ) 38
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(define (f n)
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1. (10 + 20) - - YIS
2. (define (fy) - - -E715—
(+ x 10))DESE, (f 5)ZEAT
3. (define (g x) - - - #BXITS—
+ x 10)
4, (define h(x) - - - BXITS—
(+ x 10))
5. (define (fn) - - -E=7IT5—
(+ (/n3) )&=, (f 58)==ElT
6.(+5((/10)) -  -FI7IT5— 42
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